Handout Einfilhrung Mikrocontroller Teil 2

LED — Blinker Quelltext:

int main{void)

F{ DDR3 = 0b0L0000;
!
! while (1)
i
PORIB = Cb0L0000; _delay ms(300):
PORTB = Cb00002C0; _delay ms(500);
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int main(void) e
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MCUCR I= (L << PUD): // diasable all pull-ups | 1001=9 | 0001=1
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8 1001=9 | 1000=8

DDRB = 0006
_delay ms(v);
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10 | 1010=10{ 1000=8
while {1)
{ for (i = 0; i<=1l; i#4)
{ DDRB = dirfi}s
PORTB = prtli}:
_delay ms(v):
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}

for (i = 0: i<=11; i#4)

{ DDRB = dir[ii-i]:
PORTB = prrli-i]):
_delay ms(v):




